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NEW QUESTION 1
An orgAMzation has 500 employees. The orgAMzation wants to set up AWS access for each department. Which of the below mentioned options is a possible
solution?

A. Create IAM roles based on the permission and assign users to each role

B. Create IAM users and provide indMdual permission to each

C. Create IAM groups based on the permission and assign IAM users to the groups
D. It is not possible to manage more than 100 IAM users with AWS

Answer: C

Explanation:

An IAM group is a collection of IAM users. Groups let the user specify permissions for a collection of users, which can make it easier to manage the permissions
for those users.

Reference: http://docs.aws.amazon.com/IAM/|atest/UserGuide/Using_WorkingWithGroupsAndUsers.html

NEW QUESTION 2

A user is planning to make a mobile game which can be played online or offline and will be hosted on EC2.

The user wants to ensure that if someone breaks the highest score or they achieve some milestone they can inform all their colleagues through email. Which of the
below mentioned AWS services helps achieve this goal?

A. AWS Simple Workflow Service.
B. AWS Simple Queue Service.
C. Amazon Cognito

D. AWS Simple Email Servic

Answer: D

Explanation:

Amazon Simple Email Service (Amazon SES) is a highly scalable and cost-effective email-sending service for businesses and developers. It integrates with other
AWS services, making it easy to send emails from applications that are hosted on AWS.

Reference: http://aws.amazon.com/ses/faqs/

NEW QUESTION 3
True or False: In DynamoDB, Scan operations are always eventually consistent.

A. No, scan is like Query operation

B. Yes

C. No, scan is strongly consistent by default

D. No, you can optionally request strongly consistent sca

Answer: B

Explanation:
In DynamoDB, Scan operations are always eventually consistent.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/APISummary.html

NEW QUESTION 4
A user is planning to create a structured database in the cloud. Which of the below mentioned AWS offerings help the user achieve the goal?

A. AWS DynamoDB
B. AWS RDS

C. AWS Simp|eDB
D. AWS RSD

Answer: B

Explanation:
AWS RDS is a managed database server offered by AWS, which makes it easy to set up, operate, and scale a relational database or structured data in cloud.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 5
A user plans to use RDS as a managed DB platform. Which of the below mentioned features is not supported by RDS?

A. Automated backup

B. Automated scaling to manage a higher load
C. Automated failure detection and recovery
D. Automated software patching

Answer: B
Explanation:
AWS RDS provides a managed DB platform, which offers features, such as automated backup, patch management, automated failure detection and recovery. The

scaling is not automated and the user needs to plan it with a few clicks.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html
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NEW QUESTION 6
What happens if your application performs more reads or writes than your provisioned capacity?

A. Nothing

B. requests above your provisioned capacity will be performed but you will receive 400 error codes.
C. requests above your provisioned capacity will be performed but you will receive 200 error codes.
D. requests above your provisioned capacity will be throttled and you will receive 400 error code

Answer: D

Explanation:

Speaking about DynamoDB, if your application performs more reads/second or writes/second than your table’s provisioned throughput capacity allows, requests
above your provisioned capacity will be throttled and you will receive 400 error codes.

Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/ProvisionedThroughputlntro.html

NEW QUESTION 7
What kind of service is provided by AWS DynamoDB?

A. Relational Database
B. NoSQL Database

C. Dynamic Database
D. Document Database

Answer: B
Explanation:

DynamoDB is a fast, fully managed NoSQL database service. Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 8
How many types of block devices does Amazon EC2 support?
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Answer: C

Explanation:
Amazon EC2 supports 2 types of block devices. Reference:
http://docs.amazonwebservices.com/AWSEC2/latest/UserGuide/block-device-mapping-concepts.html

NEW QUESTION 9

You need to develop and run some new applications on AWS and you know that Elastic Beanstalk and CloudFormation can both help as a deployment
mechAMsm for a broad range of AWS resources. Which of the following statements best describes the differences between Elastic Beanstalk and
C|oudFormation?

A. Elastic Beanstalk uses Elastic load balancing and CloudFormation doesn't.

B. CloudFormation is faster in deploying applications than Elastic Beanstalk.

C. CloudFormation is much more powerful than Elastic Beanstalk, because you can actually design and script custom resources
D. Elastic Beanstalk is faster in deploying applications than CloudFormatio

Answer: C

Explanation:

These services are designed to complement each other. AWS Elastic Beanstalk provides an environment to easily develop and run applications in the cloud. It is
integrated with developer tools and provides a one-stop experience for you to manage the lifecycle of your applications. AWS CloudFormation is a convenient
deployment mechAMsm for a broad range of AWS resources. It supports the infrastructure needs of many different types of applications such as existing
enterprise applications, legacy applications, applications built using a variety of AWS resources and container-based solutions (including those built using AWS
Elastic Beanstalk).

AWS CloudFormation introduces two new concepts: The template, a JSON-format, text-based file that describes all the AWS resources you need to deploy to run
your application and the stack, the set of AWS resources that are created and managed as a single unit when AWS CloudFormation instantiates a template.
Reference: http://aws.amazon.com/c|oudformation/faqs/

NEW QUESTION 10
A user has created a MySQL RDS instance. Which of the below mentioned options is mandatory to configure while creating an instance?

A. Multi AZ deployment setup
B. Automated backup window
C. Avalilability Zone

D. Maintenance window

Answer: A
Explanation:
When creating an RDS instance, the user needs to specify whether it is Nlulti AZ or not. If the user does not provide the value for the zone, the maintenance

window or automated backup window, RDS will automatically select the value.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Concepts.|V|u|tiAZ.html
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NEW QUESTION 10
An online gaming site asked you if you can deploy a database that is a fast, highly scalable NoSQL database service in AWS for a new site that he wants to build.
Which database should you recommend?

A. Amazon Redshift

B. Amazon SimpleDB
C. Amazon DynamoDB
D. Amazon RDS

Answer: C

Explanation:

Amazon DynamoDB is ideal for database applications that require very low latency and predictable performance at any scale but don’t need complex querying
capabilities like joins or transactions. Amazon DynamoDB is a fully-managed NoSQL database service that offers high performance, predictable throughput and
low cost. It is easy to set up, operate, and scale.

With Amazon DynamoDB, you can start small, specify the throughput and storage you need, and easily scale your capacity requirements on the fly. Amazon
DynamoDB automatically partitions data over a

number of servers to meet your request capacity. In addition, DynamoDB automatically replicates your data synchronously across multiple Availability Zones within
an AWS Region to ensure high-availability and data durability.

Reference: https://aws.amazon.com/running_databases/#dynamodb_anchor

NEW QUESTION 15
An account owner has created an IAM user with the name examkiller. The account owner wants to give EC2 access of only the US West region to that IAM user.
How can the owner configure this?

A. While creating a policy provide the region as a part of the resources
B. Create an IAM user in the US West region and give access to EC2
C. Create an IAM policy and define the region in the condition

D. It is not possible to provide access based on the region

Answer: C

Explanation:
The 1AM policy is never region specific. If the user wants to configure the region specific setting, he needs to provide conditions as part of the policy.
Reference: http://awspolicygen.s3.amazonaws.com/policygen.htmi

NEW QUESTION 18
In DynamoDB, the default table size is:

A.5GB

B.1GB

C.10GB

D. There is no table size

Answer: D

Explanation:

DynamoDB has seamless scalability with no table size limits and unlimited storage, so you shouldn't be worried about managing storage on the host or to
provisioning more drive, as your data requirement changes.

Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 20
A user has launched an EBS backed Linux instance. How can a user detach the root device and attach it to another instance as a secondary volume?

A. Unmount the root volume first and then detach it

B. It is not possible to mount the root volume to some other instance

C. Stop the first instance and then attach instance’s root volume as a new volume to the other instance
D. It is not possible to mount the root device as a secondary volume on the other instance

Answer: C
Explanation:

If an Amazon EBS volume is the root device of an instance, it cannot be detached unless the instance is in the stopped state.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/ebs-detaching-volume.html

NEW QUESTION 23

In regard to DynamoDB, what is the Global secondary index?

A. An index with a hash and range key that can be different from those on the table.
B. An index that has the same range key as the table, but a different hash key

C. An index that has the same hash key and range key as the table

D. An index that has the same hash key as the table, but a different range key

Answer: A

Explanation:
Global secondary index - an index with a hash and range key that can be different from those on the table.

The Leader of IT Certification visit - https://www.certleader.com



CertLeadera 100% Valid and Newest Version DVA-CO01 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/DVA-C01-dumps.html (116 Q&AS)

Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/DataModel.html

NEW QUESTION 25

A user has created photo editing software and hosted it on EC2. The software accepts requests from the user about the photo format and resolution and sends a
message to S3 to enhance the picture accordingly. Which of the below mentioned AWS services will help make a scalable software with the AWS infrastructure in
this scenario?

A. AWS Elastic Transcoder

B. AWS Simple Notification Service
C. AWS Simple Queue Service

D. AWS Glacier

Answer: C

Explanation:

Amazon Simple Queue Service (SQS) is a fast, reliable, scalable, and fully managed message queuing service. SQS provides a simple and cost-effective way to
decouple the components of an application. The user can configure SQS, which will decouple the call between the EC2 application and S3. Thus, the application
does not keep waiting for S3 to provide the data.

Reference: http://aws.amazon.com/sqs/faqs/

NEW QUESTION 29
A user is planning to host a mobile game on EC2 which sends notifications to active users on either high score or the addition of new features. The user should get
this notification when he is online on his mobile device. Which of the below mentioned AWS services can help achieve this functionality?

A. AWS Simple Notification Service.

B. AWS Simple Queue Service.

C. AWS Mobile Communication Service.
D. AWS Simple Email Servic

Answer: A

Explanation:

Amazon Simple Notification Service (Amazon SNS) is a fast, filexible, and fully managed push messaging service. Amazon SNS makes it simple and cost-effective
to push to mobile devices, such as iPhone, iPad, Android, Kindle Fire, and internet connected smart devices, as well as pushing to other distributed services.
Reference: http://aws.amazon.com/sns

NEW QUESTION 34
An orgAMzation is setting up their website on AWS. The orgAMzation is working on various security measures to be performed on the AWS EC2 instances. Which
of the below mentioned security mechAMsms will not help the orgAMzation to avoid future data leaks and identify security weaknesses?

A. Perform SQL injection for application testing.

B. Run penetration testing on AWS with prior approval from Amazon.
C. Perform a hardening test on the AWS instance.

D. Perform a Code Check for any memory leak

Answer: D

Explanation:

AWS security follows the shared security model where the user is as much responsible as Amazon. Since Amazon is a public cloud it is bound to be targeted by
hackers. If an orgAMzation is planning to host their application on AWS EC2, they should perform the below mentioned security checks as a measure to find any
security weakness/data leaks:

Perform penetration testing as performed by attackers to find any vulnerability. The orgAMzation must take an approval from AWS before performing penetration
testing

Perform hardening testing to find if there are any unnecessary ports open Perform SQL injection to find any DB security issues

The code memory checks are generally useful when the orgAMzation wants to improve the application performance.

Reference: http://aws.amazon.com/security/penetration-testing/

NEW QUESTION 36
Regarding Amazon SQS, what happens if there is no actMty against a queue for more than 30 consecutive days?

A. Your account will be suspended
B. The queue may be deleted

C. Nothing

D. The queue will be deleted

Answer: B

Explanation:

AWS reserve the right to delete a queue if none of the following requests have been issued against the queue for more than 30 consecutive days:
SendMessage ReceiveMessage DeleteMessage GetQueueAttributes SetQueueAttributes

You should design your application with this in mind. Reference: https://aws.amazon.com/sqgs/fags/

NEW QUESTION 41
Which of the below mentioned commands allows the user to share the AMI with his peers using the AWS EC2 CLI?
A. ec2-share-image-public

B. ec2-share-image-account
C. ec2-share-image
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D. ec2-modify-image-attribute
Answer: D

Explanation:

A user can share an AMI with another user / peer using the command: ec2-modify-image-attribute
<AMI-ID> -| -a <AWS Account |D>

Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/sharingamis-explicit.html

NEW QUESTION 45
A user is creating multiple IAM users. What advice should be given to him to enhance the security?

A. Grant least prMleges to the indMdual user

B. Grant all higher prMleges to the group

C. Grant less prMleges for user, but higher prMleges for the group
D. Grant more prMleges to the user, but least prMleges to the group

Answer: A

Explanation:

It is a recommended rule that the root user should grant the least prMleges to the 1AM user or the group. The higher the prMleges, the more problems it can
create.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/IAMBestPractices.html

NEW QUESTION 49
A user has set an IAM policy where it allows all requests if a request from IP 10.10.10.1/32. Another policy allows all the requests between 5 PM to 7 PM. What will
happen when a user is requesting access from IP 10.10.10.1/32 at 6 PM?

A. 1AM will throw an error for policy conflict

B. It is not possible to set a policy based on the time or IP
C. It will deny access

D. It will allow access

Answer: D

Explanation:

With regard to IAM, when a request is made, the AWS service decides whether a given request should be allowed or denied. The evaluation logic follows these
rules:

By default, all requests are denied. (In general, requests made using the account credentials for resources in the account are always allowed.)

An explicit allow policy overrides this default. An explicit deny policy overrides any allows. Reference:
http://docs.aws.amazon.com/IAM/latest/UserGuide/AccessPolicyLanguage_EvaluationLogic.htmi

NEW QUESTION 53
A user is enabling logging on a particular bucket. Which of the below mentioned options may be best suitable to allow access to the log bucket?

A. Create an IAM policy and allow log access

B. It is not possible to enable logging on the S3 bucket

C. Create an IAM Role which has access to the log bucket
D. Provide ACL for the logging group

Answer: D

Explanation:

The only recommended use case for the S3 bucket ACL is to grant the write permission to the Amazon S3 Log Delivery group to write access log objects to the
user’s bucket.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/access-policy-alternatives-guidelines.html

NEW QUESTION 54
A user is part of a group which has a policy allowing him just read only access to EC2. The user is part of another group which has full access to EC2. What
happens when the user tries to launch an instance?

A. It will allow the user to launch the instance

B. It will fail since the user has just read only access

C. It will allow or deny based on the group under which the user has logged into EC2
D. It will not allow the user to add to the conflicting groups

Answer: A

Explanation:

The IAM group policy is always aggregated. In this case, if the user does not have permission for one group, but has permission for another group, he will have full
access to EC2. Unless there is specific deny policy, the user will be able to access EC2.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/PoliciesOverview.html

NEW QUESTION 57
A user has created an RDS instance with MySQL. The user is using the HeidiSQL client to connect with the RDS DB. The client is unable to connect to DB from
his home machine. What is a possible reason for the failure?
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A. The user has to open port 80 in the RDS security group to connect with RDS DNS

B. The security group is not configured to allow a request from the user’s IP on port 3306
C. You can never connect to RDS from your desktop

D. The user has to open port 22 in the RDS security group to connect with RDS DNS

Answer: B

Explanation:
If the user needs to connect to RDS then he has to open port 3306 in the RDS security group for his IP address.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 59
can be used to bootstrap both the Chef Server and Chef Client software on your EC2 instances.

A. AWS CloudFormation
B. AWS Elastic Beanstalk
C. AWS OpsWorks

D. Amazon Glacier

Answer: A

Explanation:
AWS CloudFormation can be used to bootstrap both the Chef Server and Chef Client software on your EC2 instances.
Reference: http://aws.amazon.com/c|oudformation/faqs/

NEW QUESTION 60
An orgAMzation has 20 employees. The orgAMzation wants to give all the users access to the orgAMzation AWS account. Which of the below mentioned options
is the right solution?

A. Share the root credentials with all the users

B. Create an IAM user for each employee and provide access to them
C. Itis not advisable to give AWS access to so many users

D. Use the IAM role to allow access based on STS

Answer: B

Explanation:

AWS ldentity and Access Management is a web service that enables the AWS customers to manage users and user permissions in AWS. The IAM is targeted at
orgAMzations with multiple users or systems that use AWS products such as Amazon EC2, Amazon RDS, and the AWS Management Console. With 1AM, the
orgAMzaiton can centrally manage users, security credentials such as access keys, and permissions that control which AWS resources users can access.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/IAM_Introduction.htm|

NEW QUESTION 65
Which of the below mentioned options can be a good use case for storing content in AWS RRS?

A. Storing mission critical data Files

B. Storing infrequently used log files

C. Storing a video file which is not reproducible
D. Storing image thumbnails

Answer: D

Explanation:

AWS RRS provides the same functionality as AWS S3, but at a cheaper rate. It is ideally suited for non-mission, critical applications, such as files which can be
reproduced.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/UsingRRS.html

NEW QUESTION 67
A user is trying to find the state of an S3 bucket with respect to versioning. Which of the below mentioned states AWS will not return when queried?

A. versioning-enabled

B. versioning-suspended
C. unversioned

D. versioned

Answer: D

Explanation:

S3 buckets can be in one of the three states: unversioned (the default), versioning-enabled or versioning-suspended. The bucket owner can configure the
versioning state of a bucket. The versioning state applies to all (never some) of the objects in that bucket. The first time owner enables a bucket for versioning,
objects in it are thereafter always versioned and given a unique version ID.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/Versioning.html

NEW QUESTION 72
An orgAMzation is hosting an application as part of the free usage tier. The orgAMzation wants to create IAM users for each of its 150 employees and they may
access AWS as part of free usage tier. What will you advise the orgAMzation?
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A. The IAM is not available as a part of the free usage tier

B. Create IAM roles and give access based on role since it will not cost the user
C. Do not create more than 100 users as it will cost the orgAMzation.

D. Create IAM users for each employee as it does not cost

Answer: D

Explanation:
IAM is a free service. You can create as many IAM users or groups as desired free of cost. Reference:
http://docs.aws.amazon.com/IAM/latest/UserGuide/IAM_Introduction.htm|

NEW QUESTION 74
Does Amazon DynamoDB support both increment and decrement atomic operations?

A. No, neither increment nor decrement operations.

B. Only increment, since decrement are inherently impossible with DynamoDB's data model.
C. Only decrement, since increment are inherently impossible with DynamoDB's data model.
D. Yes, both increment and decrement operation

Answer: D

Explanation:
Amazon DynamoDB supports increment and decrement atomic operations.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/APISummary.html

NEW QUESTION 75
A user has created a new raw EBS volume. The user mounts the volume on the instance to which it is attached. Which of the below mentioned options is a
required step before the user can mount the volume?

A. Run a cyclic check on the device for data consistency
B. Create a file system of the volume

C. No step is require

D. The user can directly mount the device

E. Resize the volume as per the original snapshot size

Answer: B

Explanation:
When a user is trying to mount a blank EBS volume, it is required that the user first creates a file system within the volume.
Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/ebs-using-volumes.htmi

NEW QUESTION 79
The user has configured AutoScaling based on the dynamic policy. Which of the following is not the right command to specify a change in capacity as a part of the
policy?

A. "adjustment=-50" (type is PercentChangelnCapacity)
B. "adjustment=3" (type is ExactCapacity)

C. "adjustment=-1" (type is ChangelnCapacity)

D. "adjustment=-8" (type is ExactCapacity)

Answer: D

Explanation:

The user can configure the AutoScaling group to automatically scale up and then scale down based on the various specified CloudWatch monitoring conditions.
The user needs to provide the adjustment value and the adjustment type. A positive adjustment value increases the current capacity and a negative adjustment
value decreases the current capacity. The user can express the change to the current size as an absolute number, an increment or as a percentage of the current
group size.

In this option specifying the exact capacity with the adjustment value = -8 will not work as when type is exact capacity the adjustment value cannot be negative.
Reference:

http://docs.aws.amazon.com/AutoScaling/latest/DeveloperGuide/as-scale-based-on-demand.html

NEW QUESTION 81
True or False: AWS CloudFormation allows you to create Microsoft Windows stacks.

A. False, AWS CloudFormation does not support Microsoft Windows.
B. False, Amazon doesn’t support Microsoft Windows.

C. False, you cannot create Windows stacks.

D. True

Answer: D
Explanation:
AWS CloudFormation allows you to create Microsoft Windows stacks based on Amazon EC2 Windows Amazon Machine Images (AMIs) and provides you with the

ability to install software, to use remote desktop to access your stack, and to update and configure your stack.
Reference: http://docs.aws.amazon.com/AWSCloudFormation/latest/UserGuide/cfn-windows-stacks.html

NEW QUESTION 85
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When a user is launching an instance with EC2, which of the below mentioned options is not available during the instance launch console for a key pair?

A. Proceed without the key pair
B. Upload a new key pair

C. Select an existing key pair
D. Create a new key pair

Answer: B

Explanation:
While launching an EC2 instance, the user can create a new key pair, select an existing key pair or proceed without a key pair. The user cannot upload a new key
pair in the EC2 instance launch console. Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/launching-instance.html

NEW QUESTION 90
A user has hosted a website on AWS and uses ELB to load balance the multiple instances. The user application does not have any cookie management. How can
the user bind the session of the requestor with a particular instance?

A. Bind the IP address with a sticky cookie

B. Create a cookie at the application level to set at ELB
C. Use session synchronization with ELB

D. Let ELB generate a cookie for a specified duration

Answer: D

Explanation:

The key to manage the sticky session is determining how long the load balancer should route the user's request to the same application instance. If the application
has its own session cookie, then the user can set the Elastic Load Balancing to create the session cookie to follow the duration specified by the application's
session cookie. If the user’s application does not have its own session cookie, then he can set the Elastic Load Balancing to create a session cookie by specifying
his own stickiness duration. Reference: http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/US_StickySessions.html

NEW QUESTION 92
ExamKiller has three AWS accounts. They have created separate IAM users within each account. ExamKiller wants a single IAM console URL such as
https://examkiller.signin.aws.amazon.com/console/ for all account users. How can this be achieved?

A. Merge all the accounts with consolidated billing

B. Create the same account alias with each account ID

C. Itis not possible to have the same IAM account login URL for separate AWS accounts

D. Create the S3 bucket with an alias name and use the redirect rule to forward requests to various accounts

Answer: C

Explanation:

If a user wants the URL of the AWS IAM sign-in page to have a company name instead of the AWS account ID, he can create an alias for his AWS account ID.
The alias should be unique.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccountAlias.html

NEW QUESTION 95
Regarding Amazon SWF, at times you might want to record information in the workflow history of a workflow execution that is specific to your use case. enable you
to record information in the workflow execution history that you can use for any custom or scenario-specific purpose.

A. Markers B.Tags
B. Hash keys
C. Events

Answer: A

Explanation:

In Amazon SWF, at times you might want to record information in the workflow history of a workflow execution that is specific to your use case. Markers enable
you to record information in the workflow

execution history that you can use for any custom or scenario-specific purpose.

Reference: http://docs.aws.amazon.com/amazonswf/latest/developerguide/swf-dg-adv.html

NEW QUESTION 99
A user has configured an automated backup between 5 AM — 5:30 AM for the MySQL RDS DB. Will the performance of RDS get frozen momentarily during a
backup?

A. No

B. Yes, only if the instance size is smaller than large size
C. Yes, provided it is a single zone implementation

D. Yes, always

Answer: C
Explanation:
Amazon RDS provides two different methods for backing up and restoring the Amazon DB instances. A brief I/O freeze, typically lasting a few seconds, occurs

during both automated backups and DB snapshot operations on Single-AZ DB instances.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Overview.BackingUpAndRestoringAmazonR DSInstances.html
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NEW QUESTION 103
Regarding Amazon SNS, to send messages to a queue through a topic, you must subscribe the queue to the Amazon SNS topic. You specify the queue by its .

A. ARN

B. Token

C. Registration ID
D. URL

Answer: A

Explanation:
In Amazon SNS, to send messages to a queue through a topic, you must subscribe the queue to the Amazon SNS topic. You specify the queue by its ARN.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SendMessageToSQS.html

NEW QUESTION 106
How can you secure data at rest on an EBS volume?

A. Attach the volume to an instance using EC2's SSL interface.

B. Write the data randomly instead of sequentially.

C. Use an encrypted file system on top of the BBS volume.

D. Encrypt the volume using the S3 server-side encryption service.

E. Create an IAM policy that restricts read and write access to the volum

Answer: C

NEW QUESTION 110
Which of the following statements about SWF are true? Choose 3 answers

A. SWF tasks are assigned once and never duplicated
B. SWF requires an S3 bucket for workflow storage

C. SWF workflow executions can last up to a year

D. SWF triggers SNS notifications on task assignment
E. SWF uses deciders and workers to complete tasks
F. SWF requires atleast 1 EC2 instance per domain

Answer: ACE

NEW QUESTION 111
Which of the following are correct statements with policy evaluation logic in AWS Identity and Access Management? Choose 2 answers

A. By default, all requests are denied

B. An explicit allow overrides an explicit deny

C. An explicit allow overrides default deny.

D. An explicit deny does not override an explicit allow
E. By default, all request are allowed

Answer: AC

NEW QUESTION 116
If a message is retrieved from a queue in Amazon SQS, how long is the message inaccessible to other users by default?

A. 0 seconds
B. 1 hour

C. 1day

D. forever

E. 30 seconds

Answer: E

NEW QUESTION 120
Which of the following are valid SNS delivery transports? Choose 2 answers

A.HTTP

B. UDP

C. SNIS

D. DynamoDB
E. Named Pipes

Answer: AC

NEW QUESTION 125

When uploading an object, what request header can be explicitly specified in a request to Amazon S3 to encrypt object data when saved on the server side?
A. x-amz-storage-class

B. Content-MD5
C. x-amz-security-token
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D. x-amz-server-side-encryption

Answer: D

NEW QUESTION 126
Which of the following platforms are supported by Elastic Beanstalk? Choose 2 answers

A. Apache Tomcat
B. .NET

C. IBM Websphere
D. Oracle JBoss

E. Jetty

Answer: AB

NEW QUESTION 131
Which EC2 API call would you use to retrieve a list of Amazon Machine Images (AMIs)?

A. Descnbelnstances

B. DescribeAMIs

C. Describelmages

D. GetAMIs

E. You cannot retrieve a list of AMIs as there are over 10,000 AMIs

Answer: E

NEW QUESTION 132
When using a large Scan operation in DynamoDB, what technique can be used to minimize the impact of a scan on a table's provisioned throughput?

A. Set a smaller page size for the scan

B. Use parallel scans

C. Define a range index on the table

D. Prewarm the table by updating all items

Answer: C

NEW QUESTION 137
An Amazon S3 bucket, "myawsbucket" is configured with website hosting in Tokyo region, what is the region-specific website endpoint?

A. www.myawsbucket.ap-northeast-1.amazonaws.com

B. myawsbucket.s3-website-ap-northeast-l.amazonawscom
C. myawsbucket.amazonaws.com

D. myawsbucket.tokyo.amazonaws.com

Answer: B

NEW QUESTION 138
Which of the following services are included at no additional cost with the use of the AWS platform? Choose 2 answers

A. Simple Storage Service
B. Elastic Compute Cloud
C. Auto Scaling

D. Elastic Load Balancing
E. CloudFormation

F. Simple Workflow Service

Answer: CE

NEW QUESTION 139

Games-R-Us is launching a new game app for mobile devices. Users will log into the game using their existing Facebook account and the game will record player
data and scoring information directly to a DynamoDB table.

What is the most secure approach for signing requests to the DynamoDB API?

A. Create an IAM user with access credentials that are distributed with the mobile app to sign the requests
B. Distribute the AWS root account access credentials with the mobile app to sign the requests

C. Request temporary security credentials using web identity federation to sign the requests

D. Establish cross account access between the mobile app and the DynamoDB table to sign the requests

Answer: C

NEW QUESTION 140
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